

			Vendor Ranking			Page 1 of 1
Letting:	05230307	March 07, 2023 2:00 PM	Call Order: 007		Contract:	E56B9
District:	District 5		Counties: SEMIN	OLE	Fed Aid No	: N/A
Contract Time:	130 AVAILA	BLE DAYS			Project(s):	44892315201 (*)
Contract Desc:	SR 15					

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	OCEANIK.US, INC.	Responsive	Winning bid	\$698,401.00	100.00%
2	ORLANDO R&B, LLC	Responsive	Non-Winning Bid	\$821,401.00	117.61%
3	SIEG & AMBACHTSHEER, INC.	Responsive	Non-Winning Bid	\$870,981.00	124.71%
4	ATLANTIC CIVIL CONSTRUCTORS CORP	Responsive	Non-Winning Bid	\$1,000,329.65	143.23%
5	M & J CONSTRUCTION COMPANY OF PINELLAS COUNTY, INC.	Responsive	Non-Winning Bid	\$1,017,667.66	145.71%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



03/17/2023

			Tabulatio	n of Bids		Page 1 of 6
Letting:	05230307	March 07, 2023	Call Order:	007	Contract:	E56B9
District:	District 5		Counties:	SEMINOLE	Fed Aid No:	: N/A
Contract Time:	130 AVAILA	BLE DAYS			Project(s):	44892315201 (*)
Contract Descr	SR 15					
		ntract consist of fender repa hns River from MP 0.205 to		ole County, Florida, b	ridge no. 770070	
		TIATIVE Bidders must be /www.fdot.gov/equalopportu		s defined by FDOT. S	mall business size	
For more informat https://www.fdot.g		ng on BDI projects, please s unity/bdi.shtm	see the training guide	located at		
Prequalification pe	er Rule 14-22 is	not required.				
	•	hit the Small Business Affida cessed at: https://www.fdot.g	•	<i>,</i> ,, ,	or to receipt of bid	
		Small Business Affidavit (S		ar. Send a completed	and notarized	

affidavit as an attachment to: SmallBusiness@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the project's major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the AASHTOWare Project Bids application.

BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

Line No / Item ID Item Description	Alternate	Quantity Units	(1) OCEAN	IIK.US, INC.	(2) ORLANI	DO R&B, LLC	(3) SIEG & A	MBACHTSHEER, INC.
() indicates item is bid as L	ump Sum	onits	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount



03/17/2023

Tabulation of Bids

Page 2 of 6

Letting: 05230307	7 March 07, 2023	3 Cal	l Order: 007		Contract:	E56B9	
Line No / Item ID Alt	ernate Quantity Units	(1) OCEANI	K.US, INC.	(2) ORLANDO	O R&B, LLC	• •	BACHTSHEER, IC.
() indicates item is bid as Lump		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Structures						
0005 0110 82 REMOVE & DISPOSE OF STR TIMBER	15.800 RUCTURAL MB	3,000.00000	47,400.00	2,000.00000	31,600.00	1,500.00000	23,700.00
0010 0455 76 WRAP PILE CLUSTERS	144.000 EA	400.00000	57,600.00	1,000.00000	144,000.00	1,000.00000	144,000.00
0015 0471 1 1 FENDER SYSTEM,PLASTIC M LUMBER,REINFORCED	12.700 IARINE MB	18,000.00000	228,600.00	28,000.00000	355,600.00	36,000.00000	457,200.00
0020 0471 1 2 FENDER SYSTEM,PLASTIC M LUMBER, NON-REINFORCED		17,000.00000	74,800.00	25,000.00000	110,000.00	36,000.00000	158,400.00
0025 0510 1 NAVIGATION LIGHTS- FIXED SYSTEM 44892315201	(1.000) BRIDGE, LS	8,000.00000	8,000.00	35,000.00000	35,000.00	25,000.00000	25,000.00
0001 Structu	res Section Totals:		\$416,400.00		\$676,200.00		\$808,300.00
SECTION: 0002	Roadway						
0030 0101 1 MOBILIZATION 44892315201	(1.000) LS	200,000.00000	200,000.00	80,000.00000	80,000.00	10,000.00000	10,000.00
0035 0102 1 MAINTENANCE OF TRAFFIC 44892315201	(130.000) DA (LS)	40,000.00000	40,000.00	4,000.00000	4,000.00	3,000.00000	3,000.00



Tabulation of Bids

Page 3 of 6

Letting:	05230307	March 07, 2023	B Cal	Il Order: 007		Contract:	E56B9	
Line No / Ite Item Descri		ate Quantity Units	(1) OCEANI	K.US, INC.	(2) ORLAND	O R&B, LLC	· · /	IBACHTSHEER, NC.
() indicates ite	m is bid as Lump Su	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0002	Roadway						
0040 0104 1 FLOATING TUF	1 BIDITY BARRIER	1,920.000 LF	2.00000	3,840.00	12.00000	23,040.00	6.00000	11,520.00
0045 0999 2 INITIAL CONTII NOT BID 44892	- IGENCY AMOUN ⁻	(1.000) T, DO LS	38,161.00000	38,161.00	38,161.00000	38,161.00	38,161.00000	38,161.00
	0002 Roadway	Section Totals:		\$282,001.00		\$145,201.00		\$62,681.00

Contract Grand Totals:	

\$698,401.00

\$821,401.00

870,981.00



Tabulation of Bids

Page 4 of 6

Letting: 05230307 Ma	rch 07, 2023	Cal	I Order: 007		Contract:	E56B9	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ATLAN CONSTRUCT		(5) M & J CON COMPANY OF	PINELLAS		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	COUNT Unit Price	Y, INC. Ext Amount	Unit Price	Ext Amount
SECTION: 0001 St	ructures						
0005 0110 82 REMOVE & DISPOSE OF STRUCTURA TIMBER	15.800 L MB	3,829.50000	60,506.10	4,233.40000	66,887.72		
0010 0455 76 WRAP PILE CLUSTERS	144.000 EA	812.09000	116,940.96	952.22000	137,119.68		
0015 0471 1 1 FENDER SYSTEM,PLASTIC MARINE LUMBER,REINFORCED	12.700 MB	33,710.54000	428,123.86	25,643.22000	325,668.89		
0020 0471 1 2 FENDER SYSTEM,PLASTIC MARINE LUMBER, NON-REINFORCED	4.400 MB	26,454.02000	116,397.69	40,840.22000	179,696.97		
0025 0510 1 NAVIGATION LIGHTS- FIXED BRIDGE, SYSTEM 44892315201	(1.000) LS	97,054.37000	97,054.37	28,204.00000	28,204.00		
0001 Structures Sect	ion Totals:		\$819,022.98		\$737,577.26		

SECTION: 0002	Roadway				
0030 0101 1 MOBILIZATION 44892315201	(1.000) LS	86,682.48000	86,682.48	139,259.00000	139,259.00
0035 0102 1 MAINTENANCE OF TRAFFIC 44892315201	(130.000) DA (LS)	20,079.19000	20,079.19	5,000.00000	5,000.00



Tabulation of Bids

Page 5 of 6

Letting:	05230307	March 07, 2023	cal	I Order: 007		Contract:	E56B9	
Line No / Iter Item Descrip		ate Quantity Units	(4) ATLAN CONSTRUCT		(5) M & J CON COMPANY OI			
•	m is bid as Lump Su		Unit Price	Ext Amount	COUNT Unit Price	Y, INC. Ext Amount	Unit Price	Ext Amount
SECT	ON: 0002	Roadway						
0040 0104 1 FLOATING TUR	I BIDITY BARRIER	1,920.000 LF	18.95000	36,384.00	50.87000	97,670.40		
0045 0999 2 INITIAL CONTIN NOT BID 44892	GENCY AMOUN	(1.000) T, DO LS	38,161.00000	38,161.00	38,161.00000	38,161.00		
	0002 Roadway	Section Totals:		\$181,306.67		\$280,090.40		

Contract Grand Totals:

\$1,000,329.65

\$1,017,667.66

5
FDOT
y

			Tabulation of Bids			Page 6 of 6
Letting:	05230307	March 07, 2023	Call Order: 007	Contract:	E56B9	
			e to file a protest within the time pres			

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.